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50. Sample answer: Determine whether the point falls in the shaded
area of the graphs and/or determine whether the values satisfy
each inequality.
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Lesson 1-3 (Guided Practice)

ATA y [ ] min at (6, 1) = —28;
max at (0, 3) =12
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12.

14.

16.

18.

1.
Ao 4 8*
4-1 A > 4
= > \
" D —8 |4 1 X
-8 |—4 |0 8x o \

7 7 >
(1,8),(4,6),(4,5), (6, —8), (4, —2),
(=2,5),(=2,8); (—2,—2),(—8,=8);
max = —18, min = —96 max = —8, min = —152

y \ A 13. R4

W / /,{ 12

> / 8 e
/
N < >
/

S~ J |-8 |—4 |0 4x

o T~ X .

s ™
(2,0),(6, 1), (6,3), (2, 5); (—10,3),(2,3), (-6, 7),
max = 57, min =12 (—8,7); max =59, min =9

Al\ ALty 15. I\
43 \—4| |0 4x
4
P AL
< — >
I 16 o]/ & \6x
< e EEEE /
\ T
—‘12 {
YO IW Y IF
- y 1AV
Y \ L V\\ O
PN N
D=Q N,
A AAN
—8—6—4—20| 2 4 6 8x —8 O\2 4 6 8x
! AN
:2 s \\\
-8 -8 AN
\ Y I
'Y;
1
A
8\
4 \
/
-16 -9 [0 8 | 16x
<= LY L >
‘1.‘. >
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19. ANV W 20. Y Lesson 1-4
\ O
32 /\-A 6 26. Sample answer:
61—/ ) a+b=(x+ty+vz+(x—ty+vz
= Replace a with rx + ty + vz, and b with rx — ty + vz
— — 2,
/ 4=20) 774 6 8 X a+b=2x+2vz  Simplify.
—32 |-16 |o 1 | 32x | )
- a+(—a)=2rx + 2vz Replace b with —a.
y‘( 6 0=2rx+2vz  Simplify.
Y | 0=rx+wvz Divide each side by 2.
x+ty+vz=a Given
21. y 22. y . -
< A X L ‘\“ |1 /4 ty+(x+vz)=a Commutative and Associative
N\ ’\ ~] 77 Properties of Addition
\ N ~_ L ty+0=aqa Substitution
=8 x JEANEY, 4 " ty=a Simplify.
. N\ —8 |-a\SL | 4 | gx
i - 29. Sample answer: First, combine two of the original equations
< } using elimination to form a new equation with three variables.
—10 v 8 Next, combine a different pair of the original equations using
‘ | elimination to eliminate the same variable and form a second
equation with three variables. Do the same thing with a third pair
25b. Ab
4(“) of the original equations. You now have a system of three
(0, 40) I I I I O equations with three variables. Follow the same procedure you
30 N learned in this section. Once you find the three variables, you
25 need to use them to find the eliminated variable.
50 (25,20)
X |
o 15 . .
§_ ho NN Mid-Chapter Quiz
o 5T (0,0 (45,00 NN\ | .a 5. y 6. [ ¥ by J
f g' 5 10 15 20 25 30 35 4045 50 ‘3‘ <L ; |
(] Se '
; 2 M /l
W 44. Y 45. y 1 2N
< X ~
- —4—3-2 /|01 2 3 4 —8—6—4|0| 2 4 68X
H - N
9 A 2 4 A
% || AN 3 6 +
© [sx+3y=15]"\ [x—ey=12 4 8 ;
o X \ wd \ |
o \ [0} X
\ 1 7 y 8 S ‘4
4 4
Al = 3 S v ‘a‘ 3
46. y 47. y e v
1 /1
7 74
: 7 ~ Th 3 h 3 4x —4-3-—)h0 2.3 4x
3x—4y—10=0] | S )
I—// \‘ v 2 2
b ™ ‘-3 3
ol [ A X o P~ . y JARY
// | \ | S
/ [2x+5y—10=0l
M 15a. ¢ > 0;t> 0;3c + 2t < 108; 0.5¢ + t < 20
15h. y
48. R 49. Y4 50 \\
ENEENEERZE / \ .
5 40 S
N N 5
1 = Q
=x} / MEEAY =
—4-3-2 23 4x 0 I\l x =
M INC 2
2 |y =4x—2 [: ™ \ g
3 \ 2
4 I 10 =
\ |4 N\ T
0 10 | 20 | 30 [ NGOG0 | X g’
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15¢. 34 chairs and 3 tables will give a maximum profit of $955

17. vertices: (—4, —3), (0, 5), (2, —3); max: f(2, —=3) =17,
min: f(0, 5) = —15

-
<

>
Y

\
\

- N W

—4—3#2-10]| 1\

-
/4

2 ;

‘ =y >

18. vertices: (—10, 1), (—4, 1), (2.4, —3.8), (—2, —6), (—10, —6);
max: f(2.4, —3.8) = 1; min: (—10, —6) = —26

N
w
~
x

Lesson 1-5 (Guided Practice)

1A. Male Female
0-19[ 71 6.6
20-3916.8 5.9
40-59(3.2 22
60+ [ 11 14

1B. Column 1:18.2 million Hispanic males in the U.S.; Column 2: 16.1
million Hispanic females in the U.S.

1C. Row 1: 13.7 million Hispanics aged 0-19 in the U.S.; Row 2:12.7
million Hispanics aged 20-39 in the U.S.; Row 3: 5.4 million
Hispanics aged 40-59 in the U.S.; Row 4: 2.5 million Hispanics
aged 60+ in the U.S.

1D. Sample answer: The average of the columns or the rows would
not be meaningful.

Lesson 1-5
4 —1 -3
y
30a. [2 -1 1] 8
6
L —
ft Pl
=7 o
—8—6— 2 4 6 8X
8 —2 —6
30b. [4 -2 2]

0085A_0085L_ALG2_T_CO1_AA_718362.indd

31. To show that the Commutative Property of Matrix Addition is

true for 2 X 2 matrices, letA = [a b and B = [e ; .
Show that A + B = B + A. g
A+B= [a b] + [e f] Substitution
cd g h
— (¢ te bHr Definition of matrix addition
lc+9g d+hl
_[eta f+b ] Commutative Property of
lg+ch+d] Addition for Real Numbers
— € f] + [a b Definition of matrix addition
Lg h c dl
=B+ A Substitution
b f J k
32.A+B)+C= ([Z d] + [Z h]) + [m n] Substitution
_ (a+e b+f [f k] Definition of
lc+gd+h mn matrix addition

Definition of

fat+e+j b+f+k]
matrix addition

lc+g+md+h+n

_[atlet)) b+(f+ k)] Associative

lc+(g+m) d+ (h+n) Property of Addition
_[a b] [e +j f+ k] Definition of

Llc d g+mh+n matrix addition
_[a b] + [e f] + [j k] Definition of

Lc d g h mn matrix addition
=A+(B+C) Substitution

34a. Always; if A + B exists, A and B have the same dimensions. If A
and B have the same dimensions, then A — B exists.

34b. Always; if k is a real number, then by the definition of scalar

—3k —4k] and kB = [Sk —k].

multiplication, kA = 8k 6k 2k —4k

34c. Always; if A — B does not exist, then A and B must have
different dimensions. If A and B have different dimensions,
then A + B does not exist.

34d. Sometimes; matrices must have the same dimensions for their
sum to exist.

34e. Sometimes; matrices must have the same dimensions for their
sum to exist.
6 1 3 2]
35. Sample A A= ,B=
ample Answer [6 3 42
36. Sample answer: First, multiply every element in D by 4. Then,
multiply every element in C by 3. Finally, subtract the elements in
3C from the corresponding elements in 4D. The result is a matrix
equivalent to 4D — 3C.
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45, y ¥
Y P
\ R\
N _¢” |x—2y=—4|
‘4' \
O X
\
A
=—2—3 1z
Ly—v—v—v—r‘ A|

B
o
<
L |
N
N

| —
| T

a1 ]I wl
4y —3x=12 T

/| \
y \

am. ca+a) =27 ([Z iE [n; ﬂ)

[a b][ etJ f+k
_Cng—I—mh+n]

rale +j) + b(g + m)a(f + k) + b(h + n)
" lee+j)+dig+m) cf + k)+d(h+n)]
_[ea+ja+gb+mb fa+ ka+ hb +nb]
__ec+jc+gd+mdfc+kc+hd+nd
rea + gb +ja +mb fa + hb + ka + nb
Lec + gd + jc +md fc+ hd + kc + nd.
rea +gb fa+ hb] [ja+ mb ka + nb
Lec + gd fc + hd [jc+mdkc+nd

=CA+CB
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|

Lesson 1-6

r—1.5x — 1.5y + 15
39. | y2+xy—3x—6
[ 1.2x+ 1.2y — 39
36.75x + 50.25y + 30
40. | —6x2 —18x — 10.5xy — 13.5y2 — 12y —12
—83.4x — 94.2y — 78
[ 15x + 69y — 12
43.
[-18y2 + 4275y — 18xy + 20.25x
[ $170.99 $224.99 $279.99]
44a. | $179.99 $260.99 $319.99
1$269.99 $359.99 $399.99.
[ $181.68 $239.05 $297.49]
44b. | $191.24 $277.30 $339.99
[$286.86 $382.49 $424.99]

ab w X
47a. cA+B)=c [ ] + ]) Substitution
( ) ( de vz
[a +w b+ x] Definition of
=c . "
d+ye+z matrix addition
_ [ca +cw ch+ cx] Definition of scalar
cd+cy cetcz multiplication
_ [ca cb] 4 [CW CX] Definition of
cd ce &y cz matrix addition
=cA+cB Substitution

Substitution

Definition of
matrix addition

Definition of matrix
multiplication
Distributive
Property
Commutative
Property of Addition
Definition of

matrix addition
Definition of matrix
multiplication
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(A+B)C =

[011 ‘712] N [bﬂ b12]) [511 C12]
Uy 02 boy byplf LEx1 €2
[0yt by G+ by ey o

Lay, + by Gy + b22] [C21 522]
[ (@ + byley + (0, + byley
LAy + bylcy + (a5 + byplCyy (0 F bayglyy + (a5, + byy)cyy

UyCpy + byCpy + G15Ch5 + b1yCo

(ay + bylcy, + (0, + b12)C22]

[ OCyy Dy + GypCy + biyCy
L0iCiy + by GypCo1 F DyyCop UxiCip F DyCry F Gy5C3p + DyyCy))
[ OyCyy T OppCyy + byCy + bipCyy OyCry F GppCop F byyCpy + D1yCyy1
L0y €y + GypCh + byl DypCoy GxCiy F UpaChp F DyiCyy + DyyCy5)
[ Oyl + 01pCyp Oy + ‘712C22] [

L01Cy + 0paCo1 GyiCip T 035Co;

byyCyy + bipCyy byyCrp + b1pCoo

byCpy F bypCyp DyCry + bpCo)

=AC+ BC

47c. (AB)C = ([

ay 012] [b11 b12] [Cn C12]
031 G2l Lbyy byplf Lo €22

Substitution

Definition of matrix addition

Definition of matrix multiplication

Distributive Property

Commutative Property of Addition

Definition of matrix addition

Definition of matrix multiplication

Substitution

Definition of matrix multiplication

[ Oybyy + apbyy aybyy + 012b22] [C11 C12]

L0yibyy + Gpbyy gy + Aobsp) LCo1 22

[ (@byy + 03pboCy + (@byy + G1pboo)Cyy  (Ayby + apby)cy; + (@b, + 012b22)czz]
L{agibyy + Gpby)cy + (aybyy + ypb0)Cop (Abyy F Gxby)Cry + (ayby; + Apoby5)Co,
[ OybyCry + GpbyCy + AbipCoy + GpbyyCo Ay + OpybyCry + AybipCyy + 012b22C22]
L091DyyCy + gy Chy F UppbipCop F UpoboyCop xybyCry F A55b5iChy + yb1Chp + TpabasCon
[ OybyCry  QpybipCor F UpbyiChy F ApbyyCop OybyCoy + AybraCyp + OpbyCyy + 012b22522]
L051D1yCy F Qg 1pCoy T 0oy Cry F UoooyCop OxybyCry F OybiyCap + Typb1Cip + Opab2pCon
03Dy + bipCoy) + App(byiCyy + bypCor)  AylbyCry + biyCon) + Ay Chy + byyC55)

Lo (byCyy F bipCay) + pplbyiCyy + bypCyp) UxlbyCry + byyCop) + UnglbyiCry + Do)

Definition of matrix multiplication

Distributive Property

Commutative Property of Addition

Distributive Property

(@]
=
Q)
©
-
(]
-
-—
>
=}
(72}
s
oD
-
p
o
o
o
=
=r
x

_ [9n 92 [

byCyy + bypCyy bycpp + b1zc2z]
[0y 022l

byCyy F byCoy byrCry + b35Co,
[bﬂ by, [Cﬂ C12]
by byl 161 22

[ Oy ‘712] [b‘H b12]
L0y G2l 1b,, by,

Ayby + apbyy aybyy + ‘712b22]

[0y Op]

Ldp1 T2
= A(BC)

47d. c(AB)=c

—

_ c[
Upiby + Uxpbyy Gyibyy + 0095

[ Clayby + apby) clayby, + apby))
- * lelay by + ayby) clayby, + ayb5)
é [ COyby t Oy cayby, + C‘712b22]
- LCayby + Capbyy COybyy + Capby,
I% [ C%Hbﬂ b12]
g - Leay cay by by,
% :C[an 012][b11 b12]
= U1 Gl lby, by,
(&}

= (cA)B

0085A_0085L_ALG2_T_CO1_AA_718362.indd

Substitution

Definition of matrix multiplication

Definition of scalar multiplication

Distributive Property

Definition of matrix multiplication

Definition of scalar multiplication

Substitution

Definition of matrix multiplication

Definition of matrix multiplication

Substitution
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50.

55.
56.

57.

63.

64.

Uy Oy

0, U,71by b
c(AB)=c([ " 12“ " 12]) Substitution

by by

_ [ Oyby + apybyy aybyy + 012"22]
Oyibyy + Ayoby Gybyy + 03y,

[ Clayby + apbyy) clayby + ayby))

Definition of matrix multiplication

= Definition of scalar multiplication

Lc(aybyy + aoby) Clayby, + ay0b5))
[ Cayby + capby, cayby, + Ca12b22]

LCOyby + COyobyy COyby, + COyob,,

[ 0yChy + ayychy aychy, + 012Cb22]
L0(Chy + 0yChyy 0Chyy + 05chy,
B [011 012] [Cb11 Cb12]

01 Al Leb,, cb,,

Distributive Property

Commutative Property

Definition of matrix multiplication

= A(cB) Substitution

Sports statistics are often listed in columns and matrices. In this
case, you can find the total number of points scored by
multiplying the point value matrix, which does not change, by
the scoring matrix, which changes after each season. The total
number of points for her career can be found by multiplying the
scoring matrix S by the point matrix P. Basketball and wrestling
use different point values in scoring.

42 —24]
|—42 —31
-5 =20
[—100 —30
[—80 —44]
68 4
Translated 4 units to the right and 3 units up.
X} 7
2\ /"
4 \\/I/
2 I_f’ﬁ’=_|x—4|+3
—8—6—4—20| 2 4 6 8x
Ly
\

Translated 3 units to the left and 5 units down and stretched
vertically.

85K | Chapter1 | Answer Appendix

65. Translated 2 units to the left and 6 units down.

0} A
L
Ve
eyl
\ /

—8—6—

Lesson 1-7
ab
56a. g =ag — bf, If ag — bf = 0, then ag = bf.

56b. Sample answer: x + 3y = 8 and 2x + 6y = 12; The system is
dependent or inconsistent depending on the values of m and n.

(6 7
60a. Sampl :
a. Sample answer 6 7]
43
60b. S :
ample answer |34
[—4 —6]
60c. Sampl :
c. Sample answer g _a
70. % ol A

—8 [~4 [o[\ /] 8x
|

} [F00=2x—3| — 4
Lg
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Extend 1-8

n. 8 fx)
4 1.
-8 |4 |d|\| 4 | 8x 2
I [ .
4 \\ [ F00=—3]2x + 4]
re 3.
72. A} ool
8 4.
\| /
\l/
\
5.
-8 |—4 |0 4 8x
[ [
‘—4—1 f)=13x—1]+2|
}—8 6.
Lesson 1-8
From

city suburbs

36a. locity [0.95 0.03]

Suburbs

37a. ToCD [

Mp3

O McGraw-Hill Education

Copyright €

0.05 0.97

From
CD MP3

0.35 012
0.65 0.88
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